ENSEMBLES stream 1 seasonal hindcasts
1991-2000

Multi-modd:
Nino3 and NH-Z500

Michel Déqué, M étéo-France
input from Antje and Paco, ECMWF




Monthly hindcasts 1991-2001 May & Nov start dates:

SST mean drift

3 models with 9 members
= 27 members

MNINO3 mean Stc T drift

— TdTol

4

3
GE

£ —

= 1
=

& o / /_—_—‘\-.__ /

-

BT 2 3 % 5 & T 8 5 10 11 1% T3 1% 15 18 17 18

Calendar month
MNINO3 mean absolute Sfc T

28

28
- TN /‘:‘I\.
57 // N \ / N
o5 3
5:-‘:26 v \‘\ e ;./
_§25 \ //
=L gy

24

WVWE—T 3 3 & £ & T & B 0 17 12 19 14 15 18 17 18

PAAGIOS 6.10 denmlir - n=d Tus Moy 9 11:32;

Calendar month

2l ]

CBECHIWT




Monthly hindcasts 1991-2001 May & Nov start
dates. SST RM SE and spread

NINO3 Sfc T rms errors
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Monthly hindcasts 1991-2001 May & Nov start
dates. precipitation RM SE and spread

MNINO3 precip rms errors
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Monthly hindcasts 1991-2000 Nov start dates:

NH-Z500 ACC
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Seasonal hindcasts 1991-2000 Nov start dates:
NH-Z500 ACC
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Monthly hindcasts 1991-2000 M ay start dates:
NH-Z500 ACC
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Seasonal hindcasts 1991-2000 M ay start dates:
NH-Z500 ACC
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